Activity 24 Name-
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'(0,'—2) | (—42) (5.4) _(_5,:—'2). .(0,}2)_ (—4,2) |

(3.0 | (-3-5) 3.9 (43 (g,o)-----(s,z) ’

(5,-8) | (=2.3)| (- g,*z). (-6.3)| (5-5) | (-2.3)

85 | (3-4) (-4-2)] (-63)| (3-5) | 84)|"

©0-2)| (42)| (5 (5-2)| (0-2)| (4.2 |°

(3:0) 02 | 39 | 49 (~;—i,o) (-3,-5)| 6
X+y-9=0

O {X—Sy—18=0

Xx+3y-6=0

5=0

a° "
X+y—'-5=0

ﬂ {3x—4}-’+24=0

x+4y—-8=0

B {2x—3}?+3=0

—X—y+6:0
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2x—-5y+10=0

5x -6y +48=0
x—3y+15=0

2x—-5y—-35=0
6x +5y—-5=

2x—-3y—-6=0
2x—-y+2=0

Phoenix, Arizona

Solve each system of linear equations.

\ TS

2x+y—-7=0

O{—x+4y+4=0
X+4y+12=0

u {x—s}:—m:o

X+y+8=0
_ AR
5 +2y+4=0

h R

2x+y+6=0

n {4x~3y—2=0
2x+y—-1=0

20=0

m {2)(""5}’— =
6x +5y—-20=0
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